Hopewell Geometry Ti_ |

The Hopewell people were Native Americans whose culture flourished in the central Ohio Valley
about 2000 years ago.

The Hopewell people constructed earthworks using right triangles, including those below.

A B c D Hopewell
3 & 2 4 triangles
1 3
4 1 1
E F G H
5 2|\ 8
2 5 1
7
1. What is the length of the hypotenuse of Triangle H? .._7. ’

Give your answer correct to one decimal place.

Show your calculations.

1+ 7t RO
N50 #2077,

2. What is the size of the smallest angle in Triangle A? o)
Give your answer correct to one decimal place. 3 é 9

Show your calculations.

tan x - Z?';'
’t'c:m—' (-23*'3 = jéci |

The diagram on the next page shows the layout of some Hopewell earthworks. The centers of the
Newark Octagon, the Newark Square and the Great Circle were at the corners of the shaded
triangle.
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The three right triangles surrounding the shaded triangle form a réctangle measuring 12 units by
14 units.

Each of these three right triangles is similar to one of the Hopewell triangles on the previous page.

For example, Triangle 3 above is similar to Hopewell Triangle C.

3. Which Hopewell triangle is similar to Triangle 1? ILL

Explain how you decided.

Tre ratios of e sides were the sawe.

4. Isthe shaded triangle a right triangle? NC)

Prove your answer,

\memw ?5 the legs are Comruﬁml so 1T wakes
a_ U5°- 1450 — G0° ﬁlaﬂq!e. (0 £ABC wee 90°, toen
£AD shoud e A4%°. However T Iqm}ﬁ doesnt higue

congruent lteqgs. \¢ Zace weve qoo tren CACE <ihould
be 4%°, but riavgle 2 doesn't ove congruent  iegs.
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Hopewell Geometry i 2

The Hopewell people were Native Americans whose culture flourished in the central Ohio Valley
about 2000 years ago.

The Hopewell people constructed earthworks using right triangles, including those below.

A C H ?pewell
3 h triangles
1
4 1
E

, [\ ,\ [\X

L - ’
1. What is the length of the hypotenuse of Triangle H? 7 \

Give your answer correct to one decimal place.

Show your calculations.

pu

7+’l :\//‘3_0_27

2. What is the size of the smallest angle in Triangle A? : g 0
Give your answer correct to one decimal place. b / ﬁ

Ca
Show your calculations. tefo fo,.

cos™! (4/5) X369

The diagram on the next page shows the layout of some Hopewell earthworks. The centers of the
Newark Octagon, the Newark Square and the Great Circle were at the corners of the shaded
triangle.

Copyright © 2011 by Mathematics Assessmant Page 4 CCR 4
Resource Service. All rights reserved.



T2

14
Not drawn to scale

Triangle 2

Vs 10 |3
12 v

Triangle 1 5

9 5

o)

The three right triangles surrounding the shaded triangle form a rectangle measuring 12 units by
14 units.

Each of these three right triangles is similar to one of the Hopewell triangles on the previous page.

For example, Triangle 3 above is similar to Hopewell Triangle C.

3. Which Hopewell triangle is similar to Triangle 1? /AV
Explain how you decided.

Pecape T quided gl Fhe sides ég 3 s ITs
245 and fhal s Iignde 4.

4. Is the shaded triangle a right triangle? /V &

Prove your answer.

iyl 2 js @ (7 Jranye, go,»/ The /lm)f/,,(@ of
Hianje 5 15 JOIHOF i v abwd” 70777
Soz {/“y 5; udfd my ! heve P 07%&"" g&"( oF T F
Yo he ol Aram
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Hopewell Geometry l a

The Hopewell people were Native Americans whose culture flourished in the central Ohio Valley
about 2000 years ago.

The Hopewell people constructed earthworks using right triangles, including those below.

AR B C D Hopewell
3 > 5 4 triangles
1 3
4 1 y
E F G H
5 2|\ 4 8
2 5 1
, \ -
1. What is the length of the hypotenuse of Triangle H? }
Give your answer correct to one decimal place. l] ‘
Show your calculations.
' e %
Fr1 =0
) x49=[CF
2.) What is the size of the smallest angle in Triangle A? o
Give your answer correct to one decimal place. g(o ‘ q

Show your calculations.

2- 5
5 IN

—t

The diagram on the next page shows the layout of some Hopewell earthworks. The centers of the
Newark Octagon, the Newark Square and the Great Circle were at the corners of the shaded
triangle.
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The three right triangles surrounding the shaded triangle form a rectangle measuring 12 units by
14 units.

Each of these three right triangles is similar to one of the Hopewell triangles on the previous page.

For example, Triangle 3 above is similar to Hopewell Triangle C.

3. Which Hopewell triangle is similar to Triangle 1? TYK\Y\@L{ A
Explain how you decided.

U“LCU’)QR A ond | art  voin p\){%«xa@vmn
MpleS. ™M means they are all veal numipers

and when dm“nglL VARSE: 3> Sat S O , the numbers ot o
dcrivnal  potnis  or frackions”

4. Tsthe shaded triangle a right triangle? NO
Prove your answer.
Hypotenuse of A3 = 5 +5* = (* ,(=9V1, ("=50
Hypotnufe of a2z - J74)4*=(*  (-151, (=245

1 the <‘"‘r‘;«adccu‘w'w’%ﬁw WaS @A 119t A, e

15T 50 LHG

ll‘:}‘r‘SO%z,%‘s sinct *"”\M w1 e
“1%?’ wg \ ;
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Hopewell Geometry T4

The Hopewell people were Native Americans whose culture flourished in the central Ohio Valley
about 2000 years ago.

The Hopewell people constructed earthworks using right triangles, including those below.

A B C D Hopewell
3 . S 5 4 triangles
1 ‘ 3
4 1 1
E ; F G ; H |
2
7
1. What is the length of the hypotenuse of Triangle H? 7 )
Give your answer correct to one decimal place. -
Show your calculations.
“ 1 *
|1 z¢C
g .
[ X \«l'c\ = C C=> \_ﬁ 0~ @
*
C° =90
2. What is the size of the smallest angle in Triangle A? S- / o
Give your answer correct to one decimal place. ; .

Show your calculations.

gin s (;%
C= 530" —o [t Lipg o]

The diagram on the next page shows the layout of some Hopewell earthworks. The centers of the
Newark Octagon, the Newark Square and the Great Circle were at the corners of the shaded
triangle.
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The three right triangles surrounding the shaded triangle form a rectangle measuring 12 units by
14 units.

Each of these three right triangles is similar to one of the Hopewell' triangles on the previous page.

For example, Triangle 3 above is similar to Hopewell Triangle C.

3. Which Hopewell triangle is similar to Triangle 17 ~ Jrian /7 le A

Explain how you decided.

T},\@ /9 '}'fd of 7“4@ g,"o/(/ o{:~~ s % S/
yor )cfn/q 4 hom  Similor,

4. Is the shaded triangle a right triangle? /I/ ©

Prove your answer.

D5 hyplenses V5o D05 pedene 2UTgs (VR0) Y (B)
71 -

Z /7 .
215 =% appns, st (Vi )t s (VEig) T wusgay

We)
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Hopewell Geometry T5

The Hopewell people were Native Americans whose culture flourished in the central Ohio Valley
about 2000 years ago.

The Hopewell people constructed earthworks using right triangles, including those below.

A B C D Hopewell
3 & 2 4 triangles
1 3

1
5 2 I\ 8
2 5 1
7
1. What is the length of the hypotenuse of Triangle H? ‘7 ]
Give your answer correct to one decimal place. ’

Show your calculations.
=T
FUgT C
| cw-ct 0:‘)—5_:9:7'07/()‘7 7]

]

2. What is the size of the smallest angle in Triangle A? o
Give your answer correct to one decimal place. 3 6.7

Show your calculations.

S_~) S(:ﬂ 9:%:06
I . . \
G = sgin lé&b_j T2 BHGEVTIES > 84,97
Thgf diagram on the next page shows the layout of some Hopewell earthworks. The centers of the

Newark Octagon, the Newark Square and the Great Circle were at the corners of the shaded
triangle.
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The three right triangles surrounding the shaded triangle form a rectangle measuring 12 units by

14 units.

Each of these three right triangles is similar to one of the Hopewell triangles on the previous page.

For example, Triangle 3 above is similar to Hopewell Triangle C.

3. Which Hopewell triangle is similar to Triangle 1?

Explain how you decided.

A

1> 15 52(}:0]]%(3:!1; Sy37]§

T —

bef

- T
/I/

4. Isthe shaded triangle a right triangle?

Prove your answer.

Trmy/ﬁgk_kg“:c& 50_?‘(3‘ C:\/;O

Vo

Vpne oF the
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(g "M bind hors

Work
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